10

1072

Ratio to Pythia 8.308 default
[N

0.5

-1,

|>

7000 GeV pp

PT (ttbar) (Mtt < 450 dy > 0)

Top (parton level)
LA I B

L | ||||||
Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

Seg
&,
-\{"'ﬂ'_‘.

— ““"“lﬁ X —
; "‘ﬂgé"égug ;
= = af 3"%’5\!\‘ =
| —a— Pythia 8.308 default T, .
- Pythia 8.308 tune-1 N
= Pythia 8.308 tune-2c SE M
— Pythia 8.308 tune-2m ]
g | | | | | | | | | | | | | | | | | E
:l T T T T | T T T T | T T T T | T T |:

| " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " 1

0 100 200 300

N

0.5



	Contents
	Page 1


